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Thoi gian lam bai: 60 phut — Hoc sinh khong dwoc swr dung may tinh
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Fill your answer in the blank near to each question.

No

Question

Your
answer

1

Circle the shape at the right which fits into the open space of the graph given below:
(Chon hinh phu hop dé dién vao choé con trong cho phu hop qui ludt)
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Counting from the left, which one is the Cherry?
(Dém tir trai sang thi qua cherry ding o vi tri nao?)
A) 5th B) 6th C) 7th D) 8th
3 : g
Compare one = and one = , which is longer?
Sosinh = vi & | i ndo dai hon?)
A) &= B) &= C) Same D) Don’t know
4 | Write down whole numbers from 20 to 50, a total of how many 5's would
show up in the numbers written down? ’
(Viet cac so tw nhién twr 20 den 50, co tat ca bao nhiéu chir so 5)
A) 3 B) 4 C)5 D) 6
5 | How many Atriangles that are missing from the large triangle shown on the figure

below?
(Co bao nhiéu hinh tam giac A con thiéu dé dién vao ddy hinh tam gidc I6n ¢ phia




du6i?)

6 | Find the missing term. (Tim sé con thiéu)
15 | 9
7 772X 1L
26 \ ' |3 /1B
19 [21
7| If one spider has 8 legs and we counted 72 legs in total, how many spiders are there?
(Néu moi con nhén co 8 chan va dem dwoc tat ca 72 chan thi co tat ca bao nhiéu
con nhén?)
8 | If the perimeters of square X and rectangle Y (given below) is equal. Find the side
of square X? i
(Néu chu vi cua hinh vuéng X va hinh chit nhdat Y (nhu duwoi day) la bang nhau. Tim
canh cua hinh vuong X)
X Y 15 cm
25 ¢cm
9 | According to the picture below, how many frogs together has the same weight
as one pig? ) )
(Theo hinh dwoi day, bao nhiéu con éch co can nang bang 1 con lon?)
10

The solid shown as the figure on the right is composed of how many @ ?
(Hinh duoi day gom bao nhiéu khoi hinh lap phwong nho?)




11

Suppose there are 25 people standing in one line from left to right. If Elsa is the 9th
person counting from the first person on her left, how many people are standing on
her right?

(Gid stk ¢6 25 nguoi dang xép hang tir trdi sang phai. Néu Elsa la nguoi thir 9 dém
tir ngueoi dau tién phia tinh tir phia trdi ciia ¢é dy. Hoi ¢6 bao nhiéu nguwoi ¢ bén
phdi ciia c6 dy?)

12 | The following table shows the number of computers manufactured by two
companies in 4 weeks. , .
(Bang duwoi day mo ta so lwong may tinh dwoc san xudt boi 2 cong ty trong 4 tuan)

Week|Company AlCompany B

1 24 24

2 36 48

3 30 24

4 24 36
Which of the following statements is not true?
(Cdu nao duoi day khong dung?)
a) In 4 weeks Company A manufactured fewer computers than Company B.
(Trong 4 tudn cong ty A san xudt dwoc it may tinh hon cong ty B)
b) In the f irst two weeks Company A manufactured more computers than Company
B.
(Trong 2 tuan ddu tién, cong ty A san xudt nhiéu mdy tinh hon céng ty B)
c) In the last two weeks Company A manufactured fewer computers than Company
B.
(Trong 2 tudn cuéi, cong ty A san xudt it mdy tinh hon céng ty B)
d) In the first and last week together Company A manufactured fewer computers
than Company B. ‘ , ,
(Tinh tuan dau tién va tuan cuoi cung, cong ty A san xuat it may tinh hon cong ty B)

13 | Find the next two numbers in the following pattern:

(Tim 2 s6 tiép theo ciia ddy sé sau)
5; 10; 40; 240; ; ;
14 | According to the below picture, Pomt B is on which direction of Point A?
(Theo hinh dwéi day, vi tri cia diém B so véi diém A 1a?)
B
A
C
W—II—’L'
A) East side B) West side C) South side D) North side

15 | Let % is a operation that: 1 3¢ 3=4; 5 % 2 =235; 4 % 1=20. If 8 3 A =80, then
A=2.

(Cho =¥ 1a phép todn ma: 1 563 =4; 5 X2 =235; 4 X1 =20. Néu 8 %A = 80,
thi A bang bao nhiéu?)

16 | Henry has some coins that show their values in dollars as shown in the figure on the

right. If he wants to buy a $12 pen, how many different ways can he pay for it?
(Henry c6 1 s6 dong xu tinh theo dé la nhuw hinh dwéi. Néu anh dy mudn mua mot




cdi but 12 dé la, héi c6 bao nhiéu cach khdc nhau dé tra tién?)
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17 | Use match sticks to arrange the following figures. For example, Figure 4 has
16 small equilateral triangles. How many match sticks are required to arrange
for 36 small equilateral triangles?

(Str dung cdc que diém dé sdp xép thanh cac hinh dwéi day. Vi dy, hinh 4 ¢6
16 hinh tam gidc nhé bang nhau. Hoi ¢6 bao nhiéu que diém can dimg dé sdp
xép tao thanh hinh theo qui ludt trén c¢é 36 tam gidc nhé bang nhau?)
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Figure 1 Figure 2 Figure 3 Figure 4

18 | Which one of the choices can be formed by the line segments on the left?
(Dung cac doan thang ben trai ghep lai ¢6 thé tao thanh hinh nao phia bén phai)

ISR

19 | How many trlangles are there in the figure below ?
(Co bao nhiéu tam giac trong hinh duwoi day?)

20 | From the below figure, can you move one match stick to another position to make
this equal sign valid? Write down the correct expression.

(Tir hinh dwéi ddy, ban cé thé di chuyén 1 que diém dén vi tri khac dé tao thanh biéu
thire diing. Hay viét biéu thirc diing dé.)
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